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>> fs=100;

>> t=0:1/fs:6;

>> y=sin(2 *pi *15xt)+sin(2  *pi *40+*1);
>> f=fft(y,600);

>> (10)
ans =
7.5656e-013 -3.0956e-013i %fft 0000000
>> s=abs(f); %O00OODOoDO0o0oOo0oO0oo
>> plot(s)
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>>a=[510 26 3

a =

5 1 0 2 6 3
>> a>4
ans =

1 0 0 0 1 0
>> a(a >4)
ans =

5 6

>> find(a >4)

ans =
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>> plot(abs(fft(y,599)))
>> plot(abs(fft(y,598)))
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>> w=hann(600);
>> plot(w)
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>> [y, fs, nbits] = wavread( " xxx.wav ');
>> S=spectrogram(y,hann(256),128,256);
>> size(S)
ans =
129 206

>>

000 size(S) 000 200 (OO0 206) 000000000 DOOOO

>> size([1 2; 3 4; 5 6)])

ans =
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>> spectrogram(y,hann(256),128,256, "yaxis ')
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>> figure(2)
>> spectrogram(y,hann(1024),128,256, ' yaxis ')
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>> SL=S(;,10); %100 000000000
>> SR=flipud( ____(S(2: end-1,10))); % 0000000000000 00000000A0
%O0O0ODO0O0D0DO00DO0OO00DO00DO0O00O0O
>> S10=[SL;SR]; %O0OODOODOO0OD0OOo
>> plot(ifft(S10)) %O0OODOoODOoOoDOooooo
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>> fftlen=256;
>> noverlap=128;
>> slen=length(S);

>> ry=zeros(1, ____xfftlen-( _______ ) * noverlap); %OoOUOoOoOoouooooooooooouoooouooao
>> for i=l:slen, % 000000000000 0000DO0ODO0oDoOoDO0oDoOoDDOooDOooOOO

SL=S(.,i);

SR=flipud( ____(S(2: end-1,i)));

1= o ___ ;% 0000000000

ry(il: . ) = ry(il: . )+ ifft([SL;SR])

end

>> plot (ry)
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